Geo 12.1 Practice Solutions

A bag contains 4 red marbles, 5 white marbles, 3 maroon marbles and 1 blue marble,

1) braw a diagram of the sample space.
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Find the given probabilities.
2) P(red marble)=
‘-{/E’ - 3FF = 30,11 To

3) P(green marble)=
0/15: 6 < OG)D

4) P( maroon marble)=
3/ 3= ,A306% <

5) P(not a blue marble)=

23.0%°h

Rall two dice and add up what numbers show.

&) Make a tree diagram to show the sample space
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Find the given probabilities

Il/lé —_/9‘23] = C}z,]]o/o
7)) P(sum of 10)=
5= hes

o9 =[3.3%9
8) P(sum of 2) =

a, .00y = 2155

9 P(sum less than 9=
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10) What sum has the highest probability? What is it?
F37 . 0ber = 6.6R%

A deck of cards has 4 suits (hearts, diamonds, spades and clubs). Each suit has 13 cards (2 - 10, jack, queen, king,
ace). Hearts and diamonds are red cards. Clubs and spades are black cards. Face cards are jack, queen and king.

11) Make a diagram of the sample space.

]'kfuﬂ
113,‘1‘§,L,I‘]IY19, 10,7,Q K | A

%km-\jos

FLIEIL{!g\(’/—],Y,Ch ’O)j)Q;K ) A
CLutS
1,3/”\§\"ﬂﬁ,q) jb,j,Q)K I A
SOAPED

—

,3,95,b0 % .9,10,3,4 & A

Find the given probabilities
12) P(picking a heart)=

JC{ = ,2¢ = 0\(0/0

13) P(face card)=

&% <, 230% « 23077

14) P(not a face card)=
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15) P(a red
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Directions: Find the probability of a point being in the shaded region.

16 17) 5quare with sides of length 4 inches.
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18) Rectangle and right triangle 19) Two squares
TG LE 6
4 \
6 Newawoue — =7 < |
|||
'L((t)((l\ :l//] 6
4 6 C (m}
0 15 /3 5




